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Clualyl) @ palaa

JolIDifferential

:dlgl &gl
y = f(x) dnxdl gl -1
y = sinx Jie 4l Jlgudl g (GY (duoldadl Jlgdl) o Ccnd Jlgo -2
y = sin™! x &S Jlgdl -3
y = Inx dwiyle gl Jlgdl -4
y = e* & Jlgl -5

daiiwlIDerivatives

3) y=u.v
d -
_y= U*v+v*u
dx

* 451 I+ A0 11 Lde * J oY D11 Gl 1plls o Juol> A

9V DI dasiie
u

4) y ==

v
~~ >~
dy v.u—uv

dx V2

plaadl ddéexdanall— o) A6 Sk aliall

1S9l (AU downd Lol dditine

& plie)




3)y =3x%—5x+2

dy
L =6x—5
dx X
4) y = 8x
dy
-~ =8
dx
5)y =5
dy (x®—x)*2—[Q2x+1)*@Bx*—1)]
dx (x3 — x)?
dy (2x° —2x) — (6x° — 2x +3x* — 1)
dx (x3 — x)?
dy —4x°-3x*+1
dx  (x3—x)2




6) y = (2x? — 5x + 3)1°

d
d—i’ = 10(2x2 — 5x + 3) * (4x — 5)

7)y=3Vx3—3x+1
y = (x% —3x+ 1)/3
dy 1

- = §(x3 —3x + 1)7%/3 % (3x% — 3)

8)y=6vV3x2+4
y = 6x(3x% +4)1/2
dy

1
—. =6 *E(sz +4)7Y2 x (6x)

dy  18x
dx  \/3x2+4

9) y =3x2—-5x+9
dy

— =6x-—5
dx X

10) y=(x%*+1)*(x3+3)
dy _

s (x% + 1) = (3x2) + (x3 + 3) = (2x)

d
—y=5x4+3x2+6x
dx




. dy
Fmddx
1)y =vx2+1
1
2);y== x? +';E
2+x
3)y_z:c—1
4) y =+2x
Vitxt
S)y=—
_ X+12
6)y=()
x3-2
7)y_ \/}

8) y = (x3 + 3x% + 5)2
9)y =x?xVx3+1

(38l AI1) (11 D) Aluded] 84 (Chain Rule)
Ify = f(t),t = f(x)

dy at
dt " odx
dy dy dt
dx dt dx

) d
Ex (1): find el

dx

y=3u’+1
u=2x—3
dy
—~ =6
du u
du




dy dy du
dx du dx
= 6u * 2
d
d_ic] =12u
dy
E=12*(2x—3)=24x—36
Ex (2):
If you know
u=8-3x3+2
y = 100
Find 22
dx
2 = 100
% = —9x?
Lo B 100u® x —9x?
dx du dx
2 = —900x2 + (8 — 3% +2)*°
Ex (3):
If you know
u=x*>-—x+4
y = u?3
. dy
Flnda
2 = 23u%
® o 2x—1
dx
LoD B 93022k (26 — 1)
dx du dx
2= 23(x2 —x +4)?2x (2x — 1)
H.W.-1-
z=x*+1
y = 73/2




Find 22

dx
H.W.-2-
w = 3x
y=w?—-—w"

Find 22
dx

1

doasall A1 Juolas Impact function:

N1 epo cppaiall dx zhsol oS Y (@) DIl p el DI
(! lpan e wlpaiall Juad adaind V) (391 pasall AV

ol .d
J Qs S any g =

EX:(1)
xty—2x?=3y3
dy dy
4 — 4x3 —4x = —9y~* =
X dx+y* X X y dx
dy dy
4._ 9 —4._24 — 4 3
X dx+ y dx X VX
d
(x4+9y_4)d—i:=4x—4yx3
dy 4x — 4yx3
dx x*+9y~*
EX:(2)
4 _ 2 2 _ o _
yr—xy“+x 2=0
dy dy
37 _ 7 2 —
4y I x.2y.dx+y *1]+2x 0
dy dy
4y3 — — —2xy——y? 4+ 2x =
y I xydx +2x=0
dy dy
37 _ _ - — N2
4y Ix nydx 2x
dy




dy  y?—2x
dx  4y3 —2xy
Lilial) ) gl 5ld5) e | g6
. dy
y = sinx — —= = cosx
dx
dy .
y = coSX > —= = —sinx
dx
d
y = tanx — == = sec’x
dx
dy
y = secx - — = secx tanx
dy
Y = €scx = —= = —CScx cotx
d
y = cotx — d—z = —csc?x

Examples:
1) 5y% + siny = x*

dy ay _
10y.a +tcosy*—— = 2x

dy _
™ (10y + cosy) = 2x

dy 2x

dx 10y+cosy

2)Ify=cost x=sint

. dy
find —
dx
d . dx dt
= —sint, Z=cost» —=_1
dt dt dx  cost
dy dy* dt

dx dt dx




= —sint *x >
cost

d
Y — _tant
dx

3)y = sin(x+ 1)

dy _

— = cos (x+1)
4)y = cos 5x

W — _sinSx % 5 = —5sin 5x
dx

5)tan (2 —x) =y

Z—i = sec?(2—x) x —1
Y= _sec?(2—x)
dx

6) y = sec(2x — 1)

Z—z =sec(2x—1) tan(2x — 1) * 2

Z—i' = 2sec(2x — 1) tan(2x — 1)

7'y = csc(x? + 7x)

Z—i’ = —csc(x? + 7x) * cot(x® + 7x) = (2x + 7)

8)y = sec’x - tan®x

d
é = 2secx * secx.tan x - 2tan x.sec?x



2 sec?x tanx - 2 sec’x tanx

9)y = sin’x

d )
& — 3sin?x * cosx
dx

10) y = cos(sin x)

d o
2 = _sin(sinx) * cos x
dx
1)y = (cscx + cotx)™?
d _
ﬁ =—1(cscx + cot x)™?* (—csc x cot x - ¢sc2 x)
— Cscx (cotx+cscx)
(cscx+cot x)2
d_y'_ cscx

dx_ cscx+cotx

. xX=2
12) y = sin—

x+3
a x—2 5, x+3—(x-2
2 = cos—=* o2)
dx x+3 (x+3)2
dy X—2 4 5

= C0S
dx x+3  (x+3)2

13)y = sin? (3x — 2)
Y_ sin(3x — 2) * cos(3x —2) * 3

dx_

Z—Z = 6sin(3x — 2) cos (3x — 2)




14)y = (1 + cos Zx)2

Z—z=2(1+c052x)*—sin2x*2

ay _ .o
= 4 sin 2x (1 + cos 2x)

15) y = sin(cos(2x — 5))

Z—i’ = cos[cos(2x — 5)] * -sin (2x-5) * 2

Z_i’ = —2sin(2x — 5) cos (cosx(2x — 5))

16) Find y"
y = tanx
y~ = sec’x

y” = 2secx xsecx.tanx

y" = 2 sec®x tan x

Ay A1l

The exponential function

Example:
1)y = e

d
D= 3% %3 = 33X
dx




2)y =xe*
d
2= xe* + e*
dx
3)y = e¥.x3
L = % 3x2 + x3e*
dx
4)y = x°e*
2 _ x5.e% + e* x 5x*
dx
x4
Sy ==

dy _ e*xax3-x*xe*

dx (ex)?

dy  4x3e*—x*eX
dx e2x

6) y = Vxe* + 3x

y = (xe* + 3x)1/2

dy

= %(xex+3x)1/2* (xe* + e* + 3)

7)y = 2x — 1)e?*
Z—z=(2x—1)*e2x.2+e2x*2
d_y_ _ 2x 2X

= (4x — 2)e“* + 2e

Z‘;a,g.u\ A ke Il dla

y =Inx




dy

1
dx X

- s I 1
JI dfdualniey b ki = In *
’ dube In

Example:

1)y =In(2x + 7)

dy 1
dx o 2x+7

%

2)y = In(x? + 8)

d 1
dx x2+8

3) y = In(Inx)

dy 1 1 1

dx Inx'x x.iInx

4)y =In x*
y=xInx

1
dy—x.;+lnx
dy
—=1+1
dx + Inx
5)y=1In5x?
- _L1 10x
dx  5*x2
dy 2
dx x
6)y =In 3x
dy 1 3_1
dx 3x =~ «x




7))y =Insin 5 x

d 1
oA . cos5x *5
dx sin 5x

d 5cos5x
& ——— =5 cot 5x
dx sin5 x

8)y=In(sineX)

d 1
2 - . *coseX.eX
dx sine*

dy

—=eXcoteX
dx

9)V=ez—x
er e—2x
Y=62x +62x
Y=1+e ¥
d
d—i]=0+ e™™ x —4
d—y=—4e_4x
dx

10) y =sec Ve?* +1

Put u=e2¥t1

Y =secvu

d 1

2 — secvu .tanvu *-u2
du 2

du

—=e%* 2

dx

dy dy du

dx du’ dx

d 1
d—z=sec Ju tanvu *EU'l/Z * ) @2x




Z—Z= secVe?* + 1 tanve?* + 1 *e?* * (g2¥*l)-1/2
11) y = x?*In (2 x)
Y/ =x2* = *2 4n (2x) * 2x
2x
Y/ =x + 2x In (2x)

12) y = In (tan x + sec x)

dy 1

————— * (sec?x + sec x tan x)
dx tanx+secx

dy 1
— =——— * secx (sec x + tan x)
dx tanx+secx

d
_y= secC X
dx

a* £95 (o &l AN Blaxi

Y = a¥
dx ) T dx

Example:

1.y =3%"




2.y = 10"

4y _ 1o *1 ~*In 10
dx

3. y= (x2+ 1)six
Lny= In (x?+ 1)sin

Lny =sinx In (x?+ 1)

1 dy . 1
= 2= gin x* s—*2x +In (x>+1)
y dx x<+1

d —
ax Y

__(XZ

:da>Meo
O 9 e lgud Ao (ST daiie dlwYIX) Spiie Ul Ll 9o (el I 990X J=-U(
In .28, duo s Guuas @3 (i lall
4_) y = xlnx+x
lny = Inxnxt+x
Iny = (Inx + x) * Inx
=(Inx)? + X Inx Iny

d_y — 2Inx.

dx x

1
+ X. — +Inx
X

< |-

dy _ 2lnx.
ax y( + Inx + 1)




R ” L}'c C)‘“:”.!:"
- 1digan dads wie AW gomied polend! Jao sl
ISy = £(x) 0 gomia Jiad y = £ () goiall o Lt (5T tie oloall Jpa i

dy .
Py Vol
Example 1:
X2+ y243xy =1 at (1, 2) find the tangent eq.

dy dy _
2x+2y.a+3x.a+3y—0
2x+3y+2—z(2y+3x) =0

2+6+ (%* 4+3))=0

y-y1=M(x-x1)
-8
y-2=— (x-1)

.JM‘ dJalas
7
y-2 =(x-1)

(oelondl dse /1)- = 350l o



Example 2

A2+ 5y2=21  at (2,1)
8x+10y .2 =0
dx

8*2+10* 1* 2 =0
dx

16=-10*%2
dx
dy _ o168
dx 10 5
-8
V-1=22 (X2)

Y-1= % *(X-2) dgandl dolas
Example 3

Find the point included to the curve y = x? — 3x + 5, when the tangent
parallel the line its equationis x —y =5

Goill I o5 Aats dzy = x% — 3x 4 5 S el (S92 lowdl Lasie
daslex —y =5

2 _M=2x-3
dx

_odebeax_—1_
-obeex o

cpeiivn)l (Slgy olaadl O Ly (Sgludie Laghs
2x-3=1

2x=4

X=2
Y=4-6+5=3
P 42ai(2,3)




Example 4

Find the equation of tangent and perpendicular on it for curve
3

x242

Goual) polaadl e dgaally polaadl o S Aslae dzy = 2x +

3
(-1)2+2

at x = —1

y=2x+

3

> atx = —1
X242

y=2x*(—1)+

y=-1 (-1,-1) PIZY A

—3%x2X

Y =2-I-(x2+2)2

Y=-1
(-1,-1) dla

r_y_ 6x _
Y'=2 (x2+2)2 =M

6x—1

V=2 hmay

6 8
Y'=24= =—
9 3

ooleodl dolae
V+1=2 (x + 1)
3y+3=8x+8
3y+1=— (x+1)
8y+8 =-3x-3
8y +3x +11=0

Example 5

Coldl daB oz el Guoy (§ (souiadl Aslanly=x
Find the constant C, at the curve function equation to touch the line
y=X



y=X?*+C
y=X
W| LJM=LS‘MJ|LJ‘“°“3| CW\MM| QHA.:

%sz(?maJ' iadl Jeo

dy _ . _ an

Guell m = aieal m
M=1=2x

X==

Y=x

X==

)wwwg»&%w\jw|w5ﬁmwgﬁwww (
- osuiadl Y dolae (383 O Caed

y=X*+¢C
1_ 1,
7= Q)

y=X*+-




Juaailly depudl) (B (Aiidall) Jualiil) b

If you know that the equation d = t3 + t + 5, is the function of
distance at meters and it’s the time at second, find the velocity
and acceleration at the six second.
ABal) il 1 = 83 + £+ 5 Cus aiiss bt o s 3Ss i d i
5 DGRYL AahYIt dic jug dxdage 22 & () () b ameall dejudl ax ¢ JIEIL ()
ASHad) eay e deeabed) Al die aliaatg
d=t3+t+5
v=3t>+1
d=6>+6+5=227m

v=3%6%+1= 109 m/s
a=6t=6+x6 =36 m/s*

A body moving in a straight line, find the distance, when the velocity is

(1 ?), d = V2t? + 18, where d is the distance.

2\.:\.113/)3401 Aoyl (5655 Ladie sams s e..'{é.ma‘k;.a éj);'.'geu;

d=+V2t%2 + 18

4 1 )
dit) =v= 2" (2t2 +18)" x4t

2t

J2t2+18
2t=V2t? + 18

=1V=




4t% = 2t* + 18
2t =18

t?=9->t=3
d=+2t?>+18
d=+2+32+18
d=v36 =6
L&llIntegral
dlaad) 3eys lgiiide Cale Alla alal Lgd oye dilee (& () Jualitl) (e didec sa
[ Jalsal
f (x) = gx)
[ 8 =160 + ¢
Ol Cu>C JoHI ol g0
Sdeall_pe JoUI aclgd Undifined integral

dlsasWlia)f dx = x + ¢

xn+1

n+1

ddlt)l suclilb) [ x* d = +c

5
1-f x* dx=x?+c

3
/
2-[Vndx = [n'/2 dx=n§—2+c

2
2 3
=§*n/2+c

3-f::—;c=fx‘3dx=§+c

_1 B
= +c
2X

3
4- [ 6x%dx =6xT+c=2x3+c




220 5ac81) [ () + g()] dx
=[ f(x)dx + [ g(x)dx

5-f (6x* — 5x + 3) dx

6x3 5x2

T——+3X+C

=2x3—%+3x+c

6-f(t—t32+3)dt

2 1
=t2 2t +3t+c

=—+—+3t+c

W ) DO
w}&.‘\ J=1s wﬁy L.A.?U-Q u**}’ 2\93..9).43 Blaayl abs ANy c3 13
7- [(x* + 3x —5)*(2x + 3) dx

_ (x?43x-5)°

- +cC

dx

6X
8- f(3x2+5)7
j(3x2 +5)7.6x dx

_(Bx245)° -1 te
T -6 "~ (3x2+5)°°

9. f (x +1)dx
32x3 +6x+5

j(xz +1)(2x3 + 6x + 5) % dx
[G2+1)(2x3 + 6x +5) 7 2 dx



(2x3+6x+5)7% 1
5 *—+C
/3 6

=%*%*(2x3+6x+5)2/3 +c

5x*+2x
3

dx

10- [
[(5x* + 2x).x73 dx
=[5x + 2x~2 dx

5x2 2x71

=2+
2 -1

+c

11- [(x%+2)7. x.dx *

_ 1 (2 8
—S*Z(x +2)°+c

_1 . 2 8
—16(x +2)°+c

12-f dx

9x2+12x+4
(2l o) Job goge pliadl O Lol

_ ax  _ -2
= (3x+2)2—f(3x+2) dx

1 3x+2)71
3 -1

13- [(x+3)(x*+ 6x + 1)5/2
= f2*(x+3)*%(x2+6x+1)5/2dx
= %(x2+6x+1)7/2 *§+c

(xz+6x+1)7/2
= +C
7

14- [ x* (7 — 2x3)*dx

[ x% (7 —2x3)* « :—de



1 (7 -2x3)°
6*( 5 L

——* (7 — 2x3)°
30*( x°)° +c

X
x249

15_ [ dx

=[(x?+9)* *x*% dx
= (x? +9) /2*24c
dx
16-f —=Inx+c
JASia® g ) A g iy ) e ) A [ el
17- [e**dx

%fezx*de

1
Eezx +c

2—-2x+1

18- [e* (2x — 2) dx

—eX2x+1 4.
eVx-1

19- [ —
=[eV*"1 (x—1)% dx
=2eV¥ 1ic

dx

X

e*—e” d 1
20-[ ——=dx —Inx =-

—eft+e =¥ —e”

dx
eGAhliiajgjauﬂ
=n(e* +e™*)+¢c
21- [ ——dx

(x+1)




x+1—-1
(ot
x+1
_fx+1 f 1 d
) x+1 x+1 *
=dx — ——dx
x+1
=x-In(x + 1) + ¢
22- f1+f
_r (1=vx)(1+Vx)
= (1++vx) dx
=[dx — [Vx dx

3 2
=X-X /2 *§+C

23- [sin3x dx

A ) Asidia yd o8 angy
-1
= cos3x + ¢

24-
[(sinx)?cosx dx

_ (sinx)?

3 +c
25-  [(1 —sin*(3t)) cos3t dx

J(cos 3t — sin ?(3t) cos 3t )dx

1 3 1 sin3(3t)+
3 sin 2 2 c
cosvVx
26- [ 7 dx
= [cosx” * x~"dx
=-2sin/x+c

27- [ sinx cosx [sinx + cos x] dx

=sin? x cos x + cos x2 sin x dx
sin®x cos®x
= — +C
3 3




dx 5
f—2+fsec Tdx
X

- 1adseell Jo Sl

=t~ 2dt — 2dt

29-[ 4 [siny dy =—cosy +¢

cscy

30-[sin(x +9)dx = —cos(x+9)+c¢

31-f xiz + sec® mx dx

-1 1
=—+—tan mx+c
32-[2%dx = Z 4 ¢
lnz3
33-[ x%e* dx
=§ex3 +c
34-[ xVx? — 2 dx
=% (x2 —2)°2 *33 +c
=3i (x2=2)2 +c
ex
35_f eX+3
=In(e* + 3)
% Ine* + 3

1
— *ex

TeX 43

dx

1) ff cdx
=cex | o
=cb —ca

2) [ (x +5) dx



=x—2+ 5x|z
2
25 4
== +25- (5 - 10)
=25.5

3) fol(x2 + 3x) dx

3 2
X 3x 1
=+ — o
3 2
1 3 2+9 11
=—4-=—=—
3 2 6 6

4) f13(2x2 + 5x)3 (4x + 5) dx

3

_(2x2+5x)3
E

_(2*32+15)3 _ 245
B 3 3

5)f13(2x2 + 6x)% (2x + 3) dx

% (2x? + 6x)3

3

6) fol(x3 +1)2 | 3dx

1 6 3 x7 2x4 1

=[x +2x3+1=C+Z 1 x|,
7 4

Example:

Find the curve equation, which that its tangent is 4x3 + 18x2 + 8x + 3, and
pass the point (1, 11)

oo I goxiall Uslae dzrgl 43 + 18x2 4 8x + 3) Aaiidb ja91,11(

2o 4x% +18x2 + 8x +3 =M



dy = (4x3 + 18x% + 8x + 3) dx
Y=[(4x3 + 18x% + 8x + 3)dx
Y=4*2—4+?x3 +87xz+3x+c

11=1+6+4+3+c
C=-3
Y=x*+ 6x3 + 4x% + 3x — 3

Example:

Find the curve equation, which that its tangent is m= x * (x + 5)%, and pass
the point (2, 1)

Ao L"S..U\ gs""“.“"“ dalas d>9lm= x * (X + 5)2 ) Mbwg 2, 1(

Z—z=x*(x2+10x+25)=M
dy = (x3 + 10x? + 25x) dx

Y=[(x3 + 10x? + 25x) dx

+c




Area under curve
Ls'odvoﬂ s dslwal!

1) Area between f(x) and x-axis
b b
A=[ f(x)dx= [y dx
9 L;ou.c.l\ o d>lwadIx-axis
b b
A= fdy= [ x dy
9 @l d>lually-axis
2) Area between two curves
y1 = f(x1), y2 = f(xz)
A= f;(yl — y,)dx  x-axis
x1 = g), x; = g(y2)
A= f:(xl —x,)dy vy-axis
- rolasHe
olee 9950 JoIB JoS s gu>g Al Llacl 13] (1
oIl abolas S5 ga> gy opdls Llacel 13] (2
13 ¢y gmadl e dlaieVb (3950 J=Ib cagu> 9 Jaad 1o Blac! 13] (3
el Bl cy=0 dolas cans X Hgmell dwdll doluddl Jacl
(Il adolds o3 x=0 dslaoe Capal ¢y )goeal) dewddb d>Lua]l



Ex1:
Find the area between the curves Y=2x and x-axis from x=0 to x=2

A=ffy dx = f022x
2 12
A=% o = 4 unite?
Ex2: Find the area between the curve y=x? and line y=3x.

y=x2,y=3x
x?=3x=x2=3x=0
x(x—3)=0,x=0,x=3

b
A= f (y1-y2) dx
a

3
A=j3X—X2 dx
0

3x%2  x3 |s

=2 ~ 3l
3x92 33

2 3
=13.5-9=4.5 Unite?

Ex3: Find the area between the curve y = x(x? — 4) and x_axis

y=x(x*—4)
y=0

x(x2—-4)=0
x=0,x=+2

A=A, | + [ 4,
A=[" X(x® =) + [ X(x* - 4)

=[° X3 —4X + [T X® - 4X

Xt 4x?

4 2

0 X% ax? |2
2 - - - 0
- 4 2

Al4| + | — 4| = 8unite?




@G>l Jgb 9l ywsdll JgbLength of curve
_ b dy 2
L—fa 1+ (a) dx

1) If y=x Find the length of curve from x=1 to x=3

Y=x
L= jl\/Z_ dx
L=v2x |13

2) Find the length of curve y = 3x /> — 1for x=0, x=1
dy 3

A S V)
dx 3*2x
dy 9 dy\* 81
O O
dx 2x =>(dx) 4x

L=f [1+Zx dx
4
3/
4 2 21 2.1
L= 2 (14+5%) s

8 21\ /2
—273,[(”7’“) —1]

L=3.192 unite

3) Find the length of curve:



442 3

y = x2—1for0<x<1
d 4 3 ., .
d—;izg* Z*E*x/2=2\/§x/2

dy2 2
1+(—> =1+ (2v2x”

- (2v2x™*)

dvh 2
1+(_y> =1+ 8x

dx

S

0

=[' VI + 8x dx

5, 21
148x)7/2%= %=}
(1480725553

- 1—12 [(1 +8)%2 — 1]

L = 2,167 unite

- el e Ol

1) If 2t+4 is equation of velocity of body, find the distance at any time, if you know the
distance is 32m at 4 second, find the distance after ten second

v=2t+4



\_______________________
|

2
tZ
d=7+4t+C

t+4dt

32=42 + 4 x4 + ¢

C=0
d=t*?+4t=d=100+40=140m




